


| 3 | $\frac{3 x-4}{x+1}$ or $3-\frac{7}{x+1}$ www as final <br> answer | 3 | M1 for $(3 x-4)(x-1)$ <br> and M1 for $(x+1)(x-1)$ | 3 |
| :--- | :--- | :--- | :--- | :--- |


| 4 | (i) $n=2 m$ $\begin{aligned} & 3 n^{2}+6 n=12 m^{2}+12 m \text { or } \\ & =12 m(m+1) \end{aligned}$ <br> (ii) showing false w $n$ is odd e.g. $3 n^{2}+6 n=$ odd + even $=$ odd | M1 <br> M2 <br> B2 | or any attempt at generalising; M0 for just trying numbers <br> or M1 for $3 n^{2}+6 n=3 n(n+2)=3 \times$ even $\times$ even and M1 for explaining that 4 is a factor of even $\times$ even or M1 for 12 is a factor of $6 n$ when $n$ is even and M1 for 4 is a factor of $n^{2}$ so 12 is a factor of $3 n^{2}$ <br> or $3 n(n+2)=3 \times$ odd $\times$ odd $=$ odd or counterexample showing not always true; M1 for false with partial explanation or incorrect calculation |
| :---: | :---: | :---: | :---: |




